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MNU 2-09c        Homework 5         Silver Level 

Outcome 1 - Deciding on Profit or Loss 

For the following, decide whether  
it is a profit or loss… 

Buying Price = £137 
Selling price = £162 
Profit or Loss? 

Buying Price = £64 
Selling price = £48 
Profit or Loss? 

Buying Price = £216 
Selling price = £212 
Profit or Loss? 

Buying Price = £28 
Selling price = £23 
Profit or Loss? 

Buying Price = £99 
Selling price = £87 
Profit or Loss? 

Buying Price = £64 
Selling price = £81 
Profit or Loss? 

Buying Price = £185 468 
Selling price = £160 987 
Profit or Loss? 

Buying Price = £2389 
Selling price = £2995 
Profit or Loss? 

Buying Price = £28 million 
Selling price = £32 million 
Profit or Loss? 

Outcome 2 - Calculating Profit or Loss 

For each of the following, calculate  
the profit or loss… 

Buying Price = £137 
Selling price = £112 
Calculate loss. 

Buying Price = £24 
Selling price = £58 
Calculate profit. 

Buying Price = £146 
Selling price = £172 
Calculate profit. 

Buying Price = £108 
Selling price = £86 
Calculate loss. 

Buying Price = £79 
Selling price = £28 
Calculate loss. 

Buying Price = £64 
Selling price = £83 
Calculate profit. 

Buying Price = £568 
Selling price = £872 
Calculate profit. 

Buying Price = £125 895 
Selling price = £160 493 
Calculate profit. 

Buying Price = £15 836 
Selling price = £10 497 
Calculate loss. 

Buying Price = £11 million 
Selling price = £57 million 
Calculate profit. 
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Buying Price = £56 
Selling price = £72 
Profit or Loss? 


